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Passage 1

Ambergris

What is it and where does it come from?

A

Ambergris  was used to  perfume cosmetics  in  the  days  of  ancient  Mesopotamia  and

almost every civilization on the earth has a brush with ambergris. Before 1,000 AD, the

Chinese names ambergris as lung sien hiang, “dragon’s spittle perfume”, as they think

that it was produced from the drooling of dragons sleeping on rocks at the edge of a sea.

The Arabs knew ambergris as anbar, believing that it is produced from springs near seas.

It also gets its name from here. For centuries, this substance has also been used as a

flavouring for food.

B

During the Middle Ages, Europeans used ambergris as a remedy for headaches, colds,

epilepsy,  and other  ailments.  In  the  1851 whaling  novel  Moby-Dick,  Herman Melville

claimed that ambergris was “largely used in perfumery”. But nobody ever knew where it

really came from. Experts were still guessing its origin thousands of years later, until the

long ages of guesswork ended in the 1720’s, when Nantucket whalers found gobs of the

costly  material  inside  the  stomachs  of  sperm  whales.  Industrial  whaling  quickly

burgeoned. By 20th century ambergris is mainly recovered from inside the carcasses of

sperm whales.

C

Through countless ages, people have found pieces of ambergris on sandy beaches. It

was named grey amber to distinguish it from golden amber, another rare treasure. Both

of them were among the most sought-after substances in the world, almost as valuable

as gold. (Ambergris sells for roughly $20 a gram, slightly less than gold at $30 a gram.)

Amber floats in salt  water,  and in old times the origin of both these substances was

mysterious. But it turned out that amber and ambergris have little in common. Amber is a

fossilized resin from trees that was quite familiar to Europeans long before the discovery

of the New World, and prized as jewelry. Although considered a gem, amber is a hard,

transparent, wholly-organic material  derived from the resin of extinct species of trees,

mainly pines.

D

To the earliest Western chroniclers, ambergris was variously thought to come from the

same bituminous sea founts as amber, from the sperm of fishes or whales, from the

droppings of strange sea birds (probably because of confusion over the included beaks

of squid) or from the large hives of bees living near the sea. Marco Polo was the first

Western chronicler who correctly attributed ambergris to sperm whales and its vomit.

E

As sperm whales navigate in the oceans, they often dive down to 2 km or more below the

sea level to prey on squid, most famously the Giant Squid. It’s commonly accepted that

ambergris forms in the whale’s gut or intestines as the creature attempts to “deal” with

squid beaks. Sperm whales are rather partial to squid, but seemingly struggle to digest

the hard, sharp, parrot-like beaks. It is thought their stomach juices become hyper-active

1



朗阁海外考试研究中心
Research Academy for Foreign Language Examinations

trying to process the irritants, and eventually hard, resinous lumps are formed around the

beaks, and then expelled from their innards by vomiting. When a whale initially vomits up

ambergris, it is soft and has a terrible smell. Some marine biologists compare it to the

unpleasant smell of cow dung. But after floating on the salty ocean for about a decade,

the substance hardens with air and sun into a smooth, waxy, usually rounded piece of

nostril  heaven.  The  dung  smell  is  gone,  replaced  by  a  sweet,  smooth,  musky  and

pleasant earthy aroma.

F

Since ambergris is derived from animals, naturally a question of ethics arises, and in the

case of ambergris, it  is very important to consider. Sperm whales are an endangered

species, whose populations started to decline as far back as the 19th century due to the

high demand for their highly emollient oil, and today their stocks still have not recovered.

During  the  1970’s,  the  Save the  Whales  movement  brought  the  plight  of  whales  to

international recognition. Many people now believe that whales are “saved”. This couldn’t

be  further  from  the  truth.  All  around  the  world,  whaling  still  exists.  Many  countries

continue to hunt whales, in spite of international treaties to protect them. Many marine

researchers  are  concerned that  even the  trade in  naturally  found  ambergris  can be

harmful by creating further incentives to hunt whales for this valuable substance.

G

One of  the  forms  ambergris  is  used  today  is  as  a  valuable  fixative  in  perfumes  to

enhance and prolong the scent. But nowadays, since ambergris is rare and expensive,

and big fragrance suppliers that make most of the fragrances on the market today do not

deal in it for reasons of cost, availability and murky legal issues, most perfumeries prefer

to add a chemical derivative which mimics the properties of ambergris. As a fragrance

consumer, you can assume that there is no natural ambergris in your perfume bottle,

unless the company advertises this fact and unless you own vintage fragrances created

before the 1980s. If you are wondering if you have been wearing a perfume with this

legendary ingredient, you may want to review your scent collection. Here are a few of

some of the top ambergris containing perfumes: Givenchy Amarige, Chanel No.5, and

Gucci Guilty.
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Questions 1-6

Classify the following information as referring to

A ambergris only

B amber only

C both ambergris and amber

D neither ambergris nor amber

Write the correct letter, A, B, C, or D in boxes 1-6 on your answer sheet.

1 being expensive

2 adds flavour to food

3 used as currency

4 being see-through

5 referred to by Herman Melville

6 produces sweet smell

Questions 7-9

Complete the sentences below with NO MORE THAN ONE WORD from the passage.

Write your answers in boxes 7-9 on your answer sheet.

7 Sperm whales can’t digest the …………… of the squids.

8 Sperm whales drive the irritants out of their intestines by …………… .

9 The vomit  of  sperm whale gradually  …………… on contact  of  air  before having

pleasant smell.

Questions 10-13

Do the following statements agree with the information given in Reading Passage 1?

In boxes 10-13 on your answer sheet, write

TRUE if the statement agrees with the information

FALSE if the statement contradicts the information

NOT GIVEN if there is no information on this

10 Most ambergris comes from the dead whales today.

11 Ambergris is becoming more expensive than before.

12 Ambergris is still the most frequently used ingredient in perfume production today.

13 New uses of ambergris have been discovered recently.
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Answer keys:

1 C

2 A

3 D

4 B

5 A

6 A

7 beaks

8 vomiting

9 hardens

10 TRUE

11 NOT GIVEN

12 FALSE

13 NOT GIVEN
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Build a Medieval Castle

A

Michel Guyot, owner and restorer of Saint Fargeau castle in France, first had the idea of

building a 13th-century style fortress following the discovery that the 15th-century red

bricks of his castle obscured the stone walls of a much older stronghold. His dream was

to build a castle just as it would have been in the Middle Ages, an idea which some found

mildly  amusing  and  others  dismissed  as  outright  folly.  However,  Maryline  Martin  —

project director — was inspired by the exciting potential for the venture to regenerate the

region.  It  took several  months to bring together and mobilise all  the various different

partners: architects, archaeologists and financial backers. A site in the heart of Guédelon

forest was found: a site which offered not only all the resources required for building a

castle — a stone quarry, an oak forest and a water supply — but in sufficient quantities to

satisfy the demands of this gigantic site. The first team started work and on June 20th

1997 the first stone was laid.

B

Unlike any other present-day building site, Michel Guyot’s purpose is clear. He warmly

welcomes members of the public to participate. The workers’ role is to demonstrate and

explain, to a wide audience, the skills of our forefathers. Stone quarrying, the building of

vaulted ceilings, the blacksmith’s work and the raising of roof timbers are just some of the

activities which visitors can witness during a visit to Guédelon. The workers are always

on hand to talk about their craft and the progress of the castle. Each year 60,000 children

visit Guédelon with their schools. The site is an excellent educational resource, bringing

to life the history of the Middle Ages. Guided tours are tailored to the school curriculum

and according to age groups: activity trails for primary school children and interactive

guided tours for secondary school children. Pupils of all ages have the opportunity to

follow  in  the  footsteps  of  medieval  stonemasons  by  taking  part  in  a  stonecarving

workshop  or  discover  the  secrets  of  the  medieval  master-builders  at  the  geometry

workshop.

C

Workers in the Burgundy region of France are building a 13th century castle. They’re not

restoring an old castle. They’re actually building a new old castle. See the builders are

constructing it from scratch. The craftsmen have been working for nearly ten years now

but they're not even hallway done yet. That’s because they’re using only medieval tools

and techniques.  The World’s  Gerry  Hadden takes  us  to  the  site  of  what  will  be the

Guédelon Castle. Another reason said by Jean Francois, a member of Guédelon stone

cutter’s guild, for eight hours a day he bangs on a 13th century chisel with a 13th century

iron mallet.

D

The progress of construction has to give way to tourists side for their visits. The visitors

from 2010, however unsightly they may be, are vital to the project. The initial funding

came not  from pillaging the local  peasantry but  from regional  councils,  the European

Union and large companies. For the last 10 years, Guédelon, 100 miles southeast of

Paris, has funded itself from its entrance fees. Last year it had a record 300,000 visitors,

who paid almost €2.5m, making it the second most-visited site in Burgundy. The most-

visited site was the Hospice de Beaune, a beautiful 15th-century almshouse built 600
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years before, or, if you prefer, 200 years “after”, Guédelon.

E

Limestone is  found in  the construction of  various  local  buildings,  from the great  and

prestigious edifice of Ratilly castle to the more modest poyaudines houses. This stone

contains 30-40% iron oxide; this can make it extremely hard to extract and dress. Having

studied the block in order to determine and anticipate the natural fault lines of the stone,

the quarrymen first carve a series of rectilinear holes into the block. Iron wedges are then

hammered  into  this  line  of  holes.  The  shockwaves  produced  by  the  quarrymen’s

sledgehammers cause the stone to split along a straight line. The highest quality blocks

are dressed to produce lintels, voussoirs, corbels, ashlars etc. The medium quality blocks

are roughly shaped by the stonecutters and used on the uncoursed curtain walls, and as

facing stones on the castle’s inner walls. There are water-filled clay pits in the forest. Clay

is taken from these pits, cleaned and pugged. It is then shaped in wooden moulds to form

bricks. After the bricks have been left to air-dry, they are fired in a woodfired kiln for about

12 hours, at roughly 1000°c.

F

The mortar is the “glue” used to bind the castle’s stones. It is made up of precise doses

of lime, sand and water. The people working there wear the tunics, skirts and headgear

that they might have worn then, but they wear these over jeans and shoes with reinforced

toes. They mix their mortar primarily as they would have done then, using sand they dig

themselves,  but  they  are  not  allowed  to  use  the  extremely  effective  hot  lime  from

medieval days, because of its toxicity, and so they add a modem chemical ingredient

instead, to achieve the same effect. Workers in the Mid Age obviously were unaware of it

and some died earlier by inhaling toxic gas. And so, we met many wonderful people who

do not pretend to be anything but modern human beings practicing an old technique and

finding out  what  it  would  have felt  like,  as  much as  possible,  to  do  it  with  only  the

resources of an older time.

G

We also learned that even if there is a straight lintel across a doorway, you will usually

find an arch of stones built into the wall differently. Because of the physics of an arch,

which channels the weight  above it  down into whatever is supporting it  at  each side

instead of pressing down in the middle, this helps to take a lot of the weight off of the

lintel itself, whether it is free standing or buried in the wall against the impact of warfare.

The arch is the strongest clement for spanning space in stone architecture. This is why, in

ancient ruins, you will often find the entire wall missing, and the arched windows and

doorways still standing, in beautiful patterns against the sky.
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Questions 1-4

Do the following statements agree with the information given in Reading Passage 1?

In boxes 1-4 on your answer sheet, write

TRUE if the statement is true

FALSE if the statement is false

NOT GIVEN if the information is not given in the passage

1 The French people would not abandon his idea in favor of realistic one.

2 One aim of the castle is to show the ancestral achievement to public.

3 Short lifespan of workers was due to overdue heating.

4 stones were laid not in a straight line arrangement to avoid damaging or collapsing.

Questions 5-10

Complete the following summary of the paragraphs of Reading Passage, using A-L from

the following options for each answer. Write your answers in boxes 5-10 on your answer

sheet.

Limestone Processing:

When 5…………… found suitable block, they began to cut lines of 6…………… into it.

7…………… were used and knocked into and generated shockwaves to make stone

8…………… . Different qualities of blocks would be used in different place of castle. On

the other hand, 9…………… were shaped from clay in a mould and went through a

process of 10…………… for about 12 hours.

A metal wedge B hammer handle C lift D Masons

E patterns F heating G bricks H wood

I experts J split K walls L holes

Questions 11-13

Choose three correct letters, A-F.

Write your answers in boxes 11 -13 on your answer sheet.

Why does the castle building project last 10 years for just half progress?

A They lack of enough funds

B Guédelon castle needs a time-consuming design

C Workers obeyed modem working hours

D Their progress were delayed by unpredictable weather

E Guédelon castle need to receive valuable visitors

F They used old techniques and skills

G Stone processing need more labour and time
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Answer keys:

1 NOT GIVEN

2 TRUE

3 FALSE

4 TRUE

5 mason

6 holes

7 metal/iron wedges

8 split

9 bricks

10 heating

11 C

12 E

13 F
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Passage 2

TV Addiction

A

The  amount  of  time  people  spend  watching  television  is  astonishing.  On  average,

individuals in the industrialized world devote three hours a day to the pursuit — fully half

of their leisure time, and more than on any single activity save work and sleep. At this

rate, someone who lives to 75 would spend nine years in front of the tube. To some

commentators, this devotion means simply that people enjoy TV and make a conscious

decision to watch it. But if that is the whole story, why do so many people experience

misgivings about how much they view? In Gallup polls in 1992and 1999, two out of five

adult respondents and seven out of10 teenagers said they spent too much time watching

TV.  Other  surveys  have  consistently  shown  that  roughly  10  percent  of  adults  call

themselves TV addicts.

B

To study people’s reactions to TV, researchers have undertaken laboratory experiments

in which they have monitored the brainwaves (using an electroencephalograph, or EEG)

to track behavior and emotion in the normal course of life, as opposed to the artificial

conditions of the lab. Participants carried a beeper, and we signaled them six to eight

times a day, at random, over the period of a week; whenever they heard the beep, they

wrote  down what  they  were  doing  and  how they  were  feeling  using  a  standardized

scorecard.

C

As one might expect, people who were watching TV when we beeped them reported

feeling relaxed and passive. The EEG studies similarly show less mental stimulation, as

measured by alpha brain-wave production, during viewing than during reading. What is

more surprising is that the sense of relaxation ends when the set is turned off, but the

feelings of passivity and lowered alertness continue. Survey participants say they have

more difficulty concentrating after viewing than before. In contrast, they rarely indicate

such difficulty after reading. After playing sports or engaging in hobbies, people report

improvements in mood. After watching TV, people’s moods are about the same or worse

than before. That may be because viewers’ vague learned sense that they will feel less

relaxed if they stop viewing. So they tend not to turn the set off. Viewing begets more

viewing which is the same as the experience of habit-forming drugs. Thus, the irony of

TV: people watch a great deal longer than they plan to, even though prolonged viewing is

less rewarding. In our ESM studies the longer people sat in front of the set, the less

satisfaction they said they derived from it. For some, a twinge of unease or guilt that they

aren't  doing  something  more  productive  may  also  accompany  and  depreciate  the

enjoyment  of  prolonged viewing.  Researchers  in  Japan,  the U.K.  and the U.S.  have

found that this guilt  occurs much more among middle-class viewers than among less

affluent ones.

D

What is it about TV that has such a hold on us? In part, the attraction seems to spring

from our  biological  ‘orienting  response’.  First  described by  Ivan  Pavlov  in  1927,  the

orienting response is our instinctive visual or auditory reaction to any sudden or novel

stimulus. It  is part of our evolutionary heritage, a built-in sensitivity to movement and
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potential predatory threats. In 1986 Byron Reeves of Stanford University, Esther Thorson

of the University of Missouri  and their  colleagues began to study whether the simple

formal features of television — cuts, edits, zooms, pans, sudden noises — activate the

orienting  response,  thereby keeping  attention  on  the  screen.  By  watching  how brain

waves were affected by formal features, the researchers concluded that these stylistic

tricks can indeed trigger involuntary responses and derive their attentional value through

the evolutionary significance of detecting movement… It is the form, not the content, of

television that is unique.

E

The natural attraction to television’s sound and light starts very early in life. Dafna Lemish

of Tel Aviv University has described babies at six to eight weeks attending to television.

We have observed slightly older infants who, when lying on their  backs on the floor,

crane their necks around 180 degrees to catch what light through yonder window breaks.

This inclination suggest show deeply rooted the orienting response is.

F

The Experience Sampling Method permitted us to look closely at most every domain of

everyday life: working, eating, reading, talking to friends, playing a sport, and so on. We

found that heavy viewers report feeling significantly more anxious and less happy than

light viewers do in unstructured situations, such as doing nothing, daydreaming or waiting

in  line.  The  difference  widens  when  the  viewer  is  alone.  Subsequently,  Robert  D.

Mcllwraith of the University of Manitoba extensively studied those who called themselves

TV addicts on surveys. On a measure called the Short Imaginal Processes Inventory

(SIPI), he found that the self-described addicts are more easily bored and distracted and

have poorer attentional control than the non-addicts. The addicts said they used TV to

distract  themselves from unpleasant thoughts and to fill  time. Other  studies over the

years have shown that heavy viewers are less likely to participate in community activities

and sports and are more likely to be obese than moderate viewers or non-viewers.

G

More than 25 years ago psychologist Tannis M. MacBeth Williams of the University of

British Columbia studied a mountain community that had no television until cable finally

arrived. Over time, both adults and children in the town became less creative in problem

solving, less able to persevere at tasks, and less tolerant of unstructured time.

H

Nearly 40 years ago Gary A. Steiner of the University of Chicago collected fascinating

individual  accounts  of  families  whose  set  had  broken.  In  experiments,  families  have

volunteered or been paid to stop viewing, typically for a week or a month. Some fought,

verbally and physically. In a review of these cold-turkey studies, Charles Winick of the

City University of New York concluded: ‘The first three or four days for most persons were

the worst, even in many homes where viewing was minimal and where there were other

ongoing activities. In over half of all the households, during these first few days of loss,

the regular routines were disrupted, family members had difficulties in dealing with the

newly available time, anxiety and aggressions were expressed… By the second week, a

move toward adaptation to the situation was common.’ Unfortunately, researchers have

yet to flesh out these anecdotes; no one has systematically gathered statistics on the

prevalence of these withdrawal symptoms.
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I

Even  though  TV does  seem to  meet  the  criteria  for  substance  dependence,  not  all

researchers  would  go  so  far  as  to  call  TV  addictive.  Mcllwraith  said  in  1998  that

‘displacement of other activities by television may be socially significant but still fall short

of the clinical requirement of significant impairment.’ He argued that a new category of

'TV addiction’ may not  be necessary if  heavy viewing stems from conditions such as

depression  and  social  phobia.  Nevertheless,  whether  or  not  we  formally  diagnose

someone as TV-dependent, millions of people sense that they cannot readily control the

amount of television they watch.
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Questions 14-18

Do the following statements agree with the claims of the writer in Reading Passage 2? In

boxes 14-18 on your answer sheet, write

TRUE if the statement is true

FALSE if the statement is false

NOT GIVEN if the information is not given in the passage

14 Study shows that males are more likely to be addicted to TV than females.

15 Greater  improvements  in  mood  are  experienced  after  watching  TV  than  playing

sports.

16 TV addiction works in similar ways as drugs.

17 It  is  reported  that  people's  satisfaction  is  in  proportion  to  the  time  they  spend

watching TV.

18 Middle-class viewers are more likely to feel guilty about watching TV than the poor.

Questions 19-23

Look at the following researchers (Questions 19-23) and the list of statements below.

Match each researcher with the correct statements.

Write the correct letter A-H in boxes 19-23 on your answer sheets.

List of Statements

A Audiences would get hypnotized from viewing too much television.

B People have been sensitive to the TV signals since a younger age.

C People are less likely to accomplish their work with television.

D A handful of studies have attempted to study other types of media addiction.

E The addictive power of television could probably minimize the problems.

F Various media formal characters stimulate people's reaction on the screen.

G People who believe themselves to be TV addicts are less likely to join in the group

activities.

H It is hard for people to accept the life without TV at the beginning.

19 Byron Reeves and Esther Thorson

20 Dafna Lemish

21 Robert D. Mcllwraith

22 Tannis M. MacBeth Williams

23 Charles Winick

Questions 24-26

Choose the correct, A, B, C or D.

Write the correct letter in boxes 24-26 on your answer sheet.

24 People in the industrialized world

A devote ten hours watching TV on average.

B spend more time on TV than other entertainment.

C call themselves TV addicts.

D enjoy working best.

25 When compared with light viewers, heavy viewers

A like playing sport more than reading.

B feel relaxed after watching TV.
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C spend more time in daydreaming.

D are more easily bored while waiting in line.

26 Which of the following statements is true about the family experiment?

A Not all the subjects participate in the experiment for free.

B There has been a complete gathered data.

C People are prevented from other activities during the experiment.

D People cannot adapt to the situation until the end.
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Answer keys:

14 NOT GIVEN

15 FALSE

16 TRUE

17 FALSE

18 TRUE

19 F

20 B

21 G

22 C

23 H

24 B

25 D

26 A
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Biodiversity

A

It  seems biodiversity has become a buzzword beloved of politicians, conservationists,

protesters  and scientists  alike.  But  what  exactly  is  it?  The  Convention  on  Biological

Diversity, an international agreement to conserve and share the planet's biological riches,

provides a good working definition: biodiversity comprises every form of life, from the

smallest microbe to the largest animal or plant, the genes that give them their specific

characteristics and the ecosystems of which they are a part.

B

In  October,  the  World  Conservation  Union  (also  known  as  the  IUCN)  published  its

updated Red List of Threatened Species, a roll call of 11,167 creatures facing extinction

— 121 more than when the list was last published in 2000. But the new figures almost

certainly  underestimate  the  crisis.  Some  1.2  million  species  of  animal  and  270,000

species of  plant  have been classified,  but  the well-being of  only a fraction has been

assessed. The resources are simply not available. The IUCN reports that 5714 plants are

threatened, for  example,  but  admits that  only  4 per cent  of  known plants  have been

assessed. And, of course, there are thousands of species that we have yet to discover.

Many of these could also be facing extinction.

C

It  is  important  to  develop  a  picture  of  the  diversity  of  life  on  Earth  now,  so  that

comparisons can be made in the future and trends identified. But it isn't necessary to

observe every single type of organism in an area to get a snapshot of the health of the

ecosystem. In many habitats there are species that are particularly susceptible to shifting

conditions, and these can be used as indicator species.

D

In the media, it is usually large, charismatic animals such as pandas, elephants, tigers

and whales that get all  the attention when loss of biodiversity is discussed. However,

animals or plants far lower down the food chain are often the ones vital for preserving

habitats — in the process saving the skins of those more glamorous species. These are

known as keystone species.

E

By studying the complex feeding relationships within habitats, species can be identified

that have a particularly important impact on the environment. For example, the members

of the fig family are the staple food for hundreds of different species in many different

countries, so important that scientists sometimes call figs “jungle burgers”. A whole range

of animals, from tiny insects to birds and large mammals, feed on everything from the

tree’s  bark  and leaves to  its  flowers  and fruits.  Many fig  species  have very  specific

pollinators. There are several dozen species of fig tree in Costa Rica, and a different type

of wasp has evolved to pollinate each one. Chris Lyle of the Natural History Museum in

London — who is also involved in the Global Taxonomy Initiative of the Convention on

Biological Diversity — points out that if fig trees are affected by global warming, pollution,

disease or any other catastrophe, the loss of biodiversity will be enormous.

F

Similarly, sea otters play a major role in the survival of giant kelp forests along the coasts

of California and Alaska. These “marine rainforests” provide a home for a wide range of
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other species. The kelp itself is the main food of purple and red sea urchins and in turn

the urchins are eaten by predators, particularly sea otters. They detach an urchin from

the seabed then float to the surface and lie on their backs with the urchin shell on their

tummy, smashing it open with a stone before eating the contents. Urchins that are not

eaten tend to spend their time in rock crevices to avoid the predators. This allows the

kelp to grow — and it can grow many centimetres in a day. As the forests form, bits of

kelp break off and fall to the bottom to provide food for the urchins in their crevices. The

sea  otters  thrive  hunting  for  sea  urchins  in  the  kelp,  and  many  other  fish  and

invertebrates live among the fronds. The problems start when the sea otter population

declines. As large predators they are vulnerable — their numbers are relatively small so

disease or human hunters can wipe them out. The result is that the sea urchin population

grows unchecked and they roam the sea floor eating young kelp fronds. This tends to

keep the kelp very short  and stops forests  developing,  which has a huge impact  on

biodiversity.

G

Conversely, keystone species can also make dangerous alien species: they can wreak

havoc if they end up in the wrong ecosystem. The cactus moth, whose caterpillar is a

voracious eater of prickly pear was introduced to Australia to control the rampant cacti. It

was so successful  that  someone thought  it  would  be  a  good idea to  introduce it  to

Caribbean  islands  that  had  the  same  problem.  It  solved  the  cactus  menace,  but

unfortunately some of the moths have now reached the US mainland — borne on winds

and in tourists’ luggage — where they are devastating the native cactus populations of

Florida.

H

Organisations like the Convention on Biological Diversity work with groups such as the

UN  and  with  governments  and  scientists  to  raise  awareness  and  fund  research.  A

number of major international meetings — including the World Summit on Sustainable

Development in Johannesburg this year — have set targets for governments around the

world to slow the loss of biodiversity.  And the CITES meeting in Santiago last month

added several more names to its list of endangered species for which trade is controlled.

Of  course,  these agreements  will  prove of  limited  value  if  some countries  refuse  to

implement them.

I

There is cause for optimism, however. There seems to be a growing understanding of the

need  for  sustainable  agriculture  and  sustainable  tourism  to  conserve  biodiversity.

Problems  such  as  illegal  logging  are  being  tackled  through  sustainable  forestry

programmes, with the emphasis on minimising the use of rainforest hardwoods in the

developed world and on rigorous replanting of whatever trees are harvested. CITES is

playing its part by controlling trade in wood from endangered tree species. In the same

way,  sustainable  farming  techniques  that  minimise  environmental  damage and  avoid

monoculture.

J

Action  at  a  national  level  often means investing  in  public  education and awareness.

Getting  people  like  you  and  me involved can be  very  effective.  Australia  and many

European  countries  are  becoming  increasingly  efficient  at  recycling  much  of  their
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domestic waste, for example, preserving natural resources and reducing the use of fossil

fuels.  This  in  turn has  a direct  effect  on biodiversity  by  minimising pollution,  and an

indirect effect by reducing the amount of greenhouse gases emitted from incinerators and

landfill  sites. Preserving ecosystems intact for future generations to enjoy is obviously

important, but biodiversity is not some kind of optional extra. Variety may be “the spice of

life”, but biological variety is also our life-support system.
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Questions 14-20

Do the following statements agree with the information given in Reading Passage 2

In boxes 14-20 on your answer sheet, write

TRUE if the statement is true

FALSE if the statement is false

NOT GIVEN if the information is not given in the passage

14 The term “biodiversity” consists of living creatures and environment that they live in.

15 There are species that have not been researched because it’s unnecessary to study

all creatures.

16 It is not necessary to investigate all creatures in a certain place.

17 The press more often than not focuses on animals well-known.

18 There is a successful case that cactus moth plays a positive role in the US.

19 Usage of hardwoods is forbidden in some European countries.

20 Agriculture  experts  advise  farmers  to  plant  single  crops  in  the  field  in  terms  of

sustainable farming.

Questions 21-26

Complete  the  following  summary  of  the  paragraphs  of  Reading  Passage,  using  NO

MORE THAN TWO WORDS from the Reading Passage for each answer. Write your

answers in boxes 21-26 on your answer sheet.

Because of the ignorance brought by media, people tend to neglect significant creatures

called 21.............. . Every creature has diet connections with others, such as 22..............

which provide a majority of foods for other species. In some states of America, decline in

number  of  sea otters  leads to  the boom of  23..............  .  An impressing case is  that

imported 24.............  successfully  tackles the plant  cacti  in  25.............  .  However,  the

operation is needed for the government to increase their financial support in 26................

.
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Answer keys:

14 TRUE

15 FALSE

16 TRUE

17 TRUE

18 FALSE

19 NOT GIVEN

20 NOT GIVEN

21 keystone

22 fig family/ figs

23 sea urchins (urchins)

24 cactus moth

25 Australia

26 Public education
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Passage 3

Soviet’s New Working Week

Historian investigates how Stalin changed the calendar to keep the Soviet people

continually at work.

A

“ There  are  no  fortresses  that  Bolsheviks  cannot  storm.”  With  these  words,  Stalin

expressed the dynamic self-confidence of the Soviet Union’s Five Year Plan: weak and

backward  Russia  was  to  turn  overnight  into  a  powerful  modern  industrial  country.

Between 1928 and 1932, production of coal, iron and steel increased at a fantastic rate,

and new industrial cities sprang up, along with the world’s biggest dam. Everyone’s life

was affected, as collectivised fanning drove millions from the land to swell the industrial

proletariat. Private enterprise disappeared in city and country, leaving the State supreme

under the dictatorship of Stalin. Unlimited enthusiasm was the mood of the day, with the

Communists believing that iron will and hard-working manpower alone would bring about

a new world.

B

Enthusiasm spread to time itself, in the desire to make the state a huge efficient machine,

where not a moment would be wasted, especially in the workplace. Lenin had already

been  intrigued  by  the  ideas  of  the  American  Frederick  Winslow  Taylor  (1856-1915),

whose time-motion studies  had discovered ways of  stream-lining effort  so that  every

worker could produce the maximum. The Bolsheviks were also great admirers of Henry

Ford’s assembly line mass production and of his Fordson tractors that were imported by

the thousands. The engineers who came with them to train their users helped spread

what became a real cult of Ford. Emulating and surpassing such capitalist models formed

part of the training of the new Soviet Man, a heroic figure whose unlimited capacity for

work would benefit everyone in the dynamic new society. All this culminated in the Plan,

which  has  been characterized as  the  triumph of  the  machine,  where  workers  would

become supremely efficient robot-like creatures.

C

Yet this was Communism whose goals had always included improving the lives of the

proletariat. One major step in that direction was the sudden announcement in 1927 that

reduced the working day from eight to seven hours. In January 1929, all Indus-tries were

ordered to adopt the shorter day by the end of the Plan. Workers were also to have an

extra hour off on the eve of Sundays and holidays. Typically though, the state took away

more than it gave, for this was part of a scheme to increase production by establishing a

three-shift system. This meant that the factories were open day and night and that many

had to work at highly undesirable hours.

D

Hardly had that policy been announced, though, than Yuri Larin, who had been a close

associate of Lenin and architect of his radical economic policy, came up with an idea for

even greater efficiency. Workers were free and plants were closed on Sundays. Why not

abolish that wasted day by instituting a continuous work week so that the machines could

operate to their full capacity every day of the week? When Larin presented his idea to the

Congress of Soviets in May 1929, no one paid much attention. Soon after, though, he got

the ear  of  Stalin,  who approved.  Suddenly,  in  June,  the Soviet  press  was filled with

20



朗阁海外考试研究中心
Research Academy for Foreign Language Examinations

articles praising the new scheme. In August, the Council of Peoples’ Commissars ordered

that the continuous work week be brought into immediate effect, during the height of

enthusiasm for the Plan, whose goals the new schedule seemed guaranteed to forward.

E

The idea seemed simple enough,  but  turned out  to  be very complicated in  practice.

Obviously, the workers couldn’t be made to work seven days a week, nor should their

total work hours be increased. The Solution was ingenious: a new five-day week would

have the workers on the job for  four days, with the fifth day free;  holidays would be

reduced from ten  to  five,  and the  extra  hour  off  on  the  eve  of  rest  days  would  be

abolished. Staggering the rest-days between groups of workers meant that each worker

would spend the same number of hours on the job, but the factories would be working a

full  360 days a year  instead of  300.  The 360 divided neatly  into 72 five-day weeks.

Workers in each establishment (at first factories, then stores and offices) were divided

into five groups, each assigned a colour which appeared on the new Uninterrupted Work

Week calendars distributed all over the country. Colour-coding was a valuable mnemonic

device, since workers might have trouble remembering what their day off was going to

be, for it would change every week. A glance at the colour on the calendar would reveal

the free day, and allow workers to plan their  activities. This system, however, did not

apply  to  construction or  seasonal  occupations,  which  followed a  six-day  week,  or  to

factories or mines which had to close regularly for maintenance: they also had a six-day

week,  whether  interrupted (with  the same day off  for  everyone)  or  continuous.  In  all

cases, though, Sunday was treated like any other day.

F

Official propaganda touted the material and cultural benefits of the new scheme. Workers

would  get  more  rest;  production  and  employment  would  increase (for  more  workers

would be needed to keep the factories running continuously); the standard of living would

improve. Leisure time would be more rationally employed, for cultural activities (theatre,

clubs, sports) would no longer have to be crammed into a weekend, but could flourish

every day, with their facilities far less crowded. Shopping would be easier for the same

reasons. Ignorance and superstition, as represented by organized religion, would suffer a

mortal blow, since 80 per cent of the workers would be on the job on any given Sunday.

The only objection concerned the family, where normally more than one member was

working: well, the Soviets insisted, the narrow family was far less important than the vast

common good and besides, arrangements could be made for husband and wife to share

a common schedule. In fact, the regime had long wanted to weaken or sideline the two

greatest potential threats to its total dominance: organized religion and the nuclear family.

Religion succumbed, but the family, as even Stalin finally had to admit, proved much

more resistant.

G

The continuous work week, hailed as a Utopia where time itself was conquered and the

sluggish Sunday abolished forever, spread like an epidemic. According to official figures,

63 percent of industrial workers were so employed by April 1930; in June, all industry was

ordered to convert during the next year. The fad reached its peak in October when it

affected  73  per  cent  of  workers.  In  fact,  many  managers  simply  claimed  that  their

factories had gone over to the new week, without actually applying it. Conforming to the
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demands  of  the  Plan  was  important;  practical  matters  could  wait.  By  then,  though,

problems were becoming obvious. Most serious (though never officially admitted), the

workers hated it. Coordination of family schedules was virtually impossible and usually

ignored, so husbands and wives only saw each other before or after work; rest days were

empty without  any loved ones to share them — even friends were likely to be on a

different schedule. Confusion reigned: the new plan was introduced haphazardly, with

some factories operating five-,  six-  and seven-day weeks at  the same time, and the

workers often not getting their rest days at all.

H

The Soviet government might have ignored all that (It didn’t depend on public approval),

but  the  new  week  was  far  from  having  the  vaunted  effect  on  production.  With  the

complicated  rotation  system,  the  work  teams  necessarily  found  themselves  doing

different  kinds  of  work in  successive weeks.  Machines,  no longer  consistently  in  the

hands of people who knew how to tend them, were often poorly maintained or even

broken. Workers lost a sense of responsibility for the special tasks they had normally

performed.

I

As a result, the new week started to lose ground. Stalin’s speech of June 1931, which

criticised the “depersonalised labor”, it’s too hasty application had brought, marked the

beginning of the end. In November, the government ordered the widespread adoption of

the six-day week, which had its own calendar, with regular breaks on the 6th, 12th, 18th,

24th, and 30th, with Sunday usually as a working day. By July 1935, only 26 per cent of

workers still followed the continuous schedule, and the six-day week was soon on its way

out. Finally, in 1940, as part of the general reversion to more traditional methods, both

the continuous five-day week and the novel six-day week were abandoned, and Sunday

returned as the universal day of rest. A bold but typically ill-conceived experiment was at

an end.
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Questions 27-34

Reading Passage 2 has nine paragraphs A-I.

Choose the correct heading for each paragraph from the list of headings below. Write the

correct number i-xii in boxes 27-34 on your answer sheet.

List of Headings

i Benefits of the new scheme and its resistance

ii Making use of the once wasted weekends

iii Cutting work hours for better efficiency

iv Optimism of the great future

v Negative effects on production itself

vi Soviet Union's five year plan

vii The abolishment of the new work-week scheme

viii The Ford model

ix Reaction from factory workers and their families

x The color-coding scheme

xi Establishing a three-shift system

xii Foreign inspiration

27 Paragraph A

28 Paragraph B

Example Answer

Paragraph C iii

29 Paragraph D

30 Paragraph E

31 Paragraph F

32 Paragraph G

33 Paragraph H

34 Paragraph I

Questions 35-37

Choose the correct letter A, B, C or D.

Write your answers in boxes 35-37 on your answer sheet.

35 According to paragraph A, Soviet's five year plan was a success because

A Bolsheviks built a strong fortress.

B Russia was weak and backward.

C industrial production increased.

D Stalin was confident about Soviet's potential.

36 Daily working hours were cut from eight to seven to

A improve the lives of all people.

B boost industrial productivity.

C get rid of undesirable work hours.

D change the already establish three-shift work system.

37 Many factory managers claimed to have complied with the demands of the new work

week because

A they were pressurized by the state to do so.

B they believed there would not be any practical problems.
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C they were able to apply it.

D workers hated the new plan.

Questions 38-40

Answer the questions below using NO MORE THAN TWO WORDS from the passage for

each answer.

Write your answers in boxes 38-40 on your answer sheet.

38 Whose idea of continuous work week did Stalin approve and helped to implement?

39 What method was used to help workers to remember the rotation of their off days?

40 What was the most resistant force to the new work week scheme?
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Answer keys:

27 iv

28 xii

29 ii

30 x

31 i

32 ix

33 v

34 vii

35 C

36 B

37 A

38 Yuri Larin

39 Colour-coding/ colour

40 family
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Save Endangered Language

“Obviously we must do some serious rethinking of our priorities, lest linguistics go down

in  history  as  the only  science that  presided obviously  over  the disappearance of  90

percent  of  the  very  field  to  which  it  is  dedicated.”  — Michael  Krauss,  “The  World’s

Languages in Crisis.”

A

Ten years ago Michael Krauss sent a shudder through the discipline of linguistics with his

prediction that half the 6,000 or so languages spoken in the world would cease to be

uttered within a century. Unless scientists and community leaders directed a worldwide

effort to stabilize the decline of local languages, he warned, nine tenths of the linguistic

diversity of humankind would probably be doomed to extinction. Krauss’s prediction was

little more than an educated guess, but other respected linguists had been clanging out

similar alarms. Keneth L. Hale of the Massachusetts Institute of Technology noted in the

same journal  issue that  eight  languages on which  he had done fieldwork  had since

passed into  extinction.  A 1990 survey  in  Australia  found that  70  of  the  90  surviving

Aboriginal languages were no longer used regularly by all age groups. The same was

true for all but 20 of the 175 Native American languages spoken or remembered in the

US, Krauss told a congressional panel in 1992.

B

Many experts in the field mourn the loss of rare languages, for several reasons. To start,

there is scientific self-interest: some of the most basic questions in linguistics have to do

with the limits of human speech, which are far from fully explored. Many researchers

would like to know which structural elements of grammar and vocabulary — if any — are

truly universal and probably therefore hardwired into the human brain. Other scientists try

to reconstruct ancient migration patterns by comparing borrowed words that appear in

otherwise  unrelated  languages.  In  each  of  these  cases,  the  wider  the  portfolio  of

languages you study, the more likely you are to get the right answers.

C

Despite the near constant buzz in linguistics about endangered languages over the past

10 years, the field has accomplished depressingly little. “You would think that there would

be some organized response to this  dire situation,  some attempt to determine which

language can be saved and which should be documented before they disappear,” says

Sarah G. Thomason, a linguist at the University of Michigan at Ann Arbor. “But there isn’t

any  such  effort  organized  in  the  profession.  It  is  only  recently  that  it  has  become

fashionable enough to work on endangered languages.” Six years ago, recalls Douglas

H. Whalen of Yale University, “when I asked linguists who was raising money to deal with

these problems, I mostly got blank stares.” So Whalen and a few other linguists founded

the Endangered Languages Fund. In the five years to 2001 they were able to collect only

$80,000 for research grants. A similar foundation in England, directed by Nicholas Ostler,

has raised just $8,000 since 1995.

D

But  there are encouraging signs that  the field  has  turned a corner.  The Volkswagen

Foundation, a German charity, just issued its second round of grants totaling more than

$2  million.  It  has  created  a  multimedia  archive  at  the  Max  Planck  Institute  for

Psycholinguistics in the Netherlands that can house recordings, grammars, dictionaries
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and  other  data  on  endangered  languages.  To  fill  the  archive,  the  foundation  has

dispatched field linguists to document Aweti (100 or so speakers in Brazil), Ega (about

300 speakers in Ivory Coast), Waima’a (a few hundred speakers in East Timor), and a

dozen or so other languages unlikely to survive the century. The Ford Foundation has

also edged into the arena. Its contributions helped to reinvigorate a master-apprentice

program created in 1992 by Leanne Hinton of Berkeley and Native Americans worried

about  the  imminent  demise  of  about  50  indigenous  languages  in  California.  Fluent

speakers receive $3,000 to teach a younger relative (who is also paid) their native tongue

through 360 hours of shared activities, spread over six months. So far about 5 teams

have completed the program, Hinton says, transmitting at least some knowledge of 25

languages. “It’s too early to call this language revitalization,” Hinton admits. “In California

the death rate of elderly speakers will  always be greater than the recruitment rate of

young speakers. But at least we prolong the survival of the language.” That will  give

linguists more time to record these tongues before they vanish.

E

But  the master-apprentice approach hasn’t  caught  on outside the U.S.,  and Hinton’s

effort is a drop in the sea. At least 440 languages have been reduced to a mere handful

of elders, according to the Ethnologue, a catalogue of languages produced by the Dallas-

based  group  SIL International  that  comes  closest  to  global  coverage.  For  the  vast

majority  of  these languages,  there is little or  no record of  their  grammar,  vocabulary,

pronunciation or use in daily life. Even if a language has been fully documented, all that

remains once it vanishes from active use is a fossil skeleton, a scattering of features that

the scientist was lucky and astute enough to capture. Linguists may be able to sketch an

outline of the forgotten language and fix its place on the evolutionary tree, but little more.

“How did people start conversations and talk to babies? How did husbands and wives

converse?” Hinton asks. “Those are the first things you want to learn when you want to

revitalize the language.”

F

But  there is  as yet  no discipline of  “conservation linguistics”,  as there is  for  biology.

Almost every strategy tried so far has succeeded in some places but failed in others, and

there seems to be no way to predict with certainty what will work where. Twenty years

ago in New Zealand,  Maori  speakers set  up “language nests”,  in which preschoolers

were immersed in the native language. Additional Maori-only classes were added as the

children progressed through elementary and secondary school. A similar approach was

tried in Hawaii, with some success — the number of native speakers has stabilized at

1,000 or so, reports Joseph E. Grimes of SIL International,  who is working on Oahu.

Students can now get instruction in Hawaiian all the way through university.

G

One factor that always seems to occur in the demise of a language is that the speakers

begin to have collective doubts about the usefulness of language loyalty. Once they start

regarding their own language as inferior to the majority language, people stop using it for

all situations. Kids pick up on the attitude and prefer the dominant language. In many

cases, people don’t  notice until  they suddenly realize that their  kids never speak the

language, even at home. This is how Cornish and some dialects of Scottish Gaelic is still
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only rarely used for daily home life in Ireland, 80 years after the republic was founded

with Irish as its first official language.

H

Linguists  agree  that  ultimately,  the  answer  to  the  problem of  language  extinction  is

multilingualism. Even uneducated people can learn several languages, as long as they

start as children. Indeed, most people in the world speak more than one tongue, and in

places such as Cameroon (279 languages), Papua New Guinea (823) and India (387) it

is common to speak three or four distinct languages and a dialect or two as well. Most

Americans and Canadians,  to  the  west  of  Quebec,  have a gut  reaction that  anyone

speaking another language in front of them is committing an immoral act. You get the

same reaction in Australia and Russia.  It  is  no coincidence that  these are the areas

where languages are disappearing the fastest. The first step in saving dying languages is

to persuade the world’s majorities to allow the minorities among them to speak with their

own voices.

28



朗阁海外考试研究中心
Research Academy for Foreign Language Examinations

Questions 27-33

The reading passage has eight paragraphs, A-H

Choose the correct heading for paragraphs A-H from the list below.

Write the correct number, i-xi, in boxes 27-33 on your answer sheet.

List of Headings

i data consistency needed for language

ii consensus on an initiative recommendation for saving dying out languages

iii positive gains for protection

iv minimum requirement for saving a language

v Potential threat to minority language

vi a period when there was absent of real effort made.

vii native language programs launched

viii Lack in confidence in young speakers as a negative factor

ix Practise in several developing countries

x Value of minority language to linguists.

xi government participation in language field

27 Paragraph A

28 Paragraph B

Example Answer

Paragraph C vi

29 Paragraph D

30 Paragraph E

31 Paragraph F

32 Paragraph G

33 Paragraph H

Questions 34-38

Use the information in the passage to match the people (listed A-F) with opinions or

deeds below. Write the appropriate letters A-F in boxes 34-38 on your answer sheet.

A Nicholas Ostler

B Michael Krauss

C Joseph E. Grimes

D Sarah G. Thomason

E Keneth L. Hale

F Douglas H. Whalen

34 Reported language conservation practice in Hawaii

35 Predicted that many languages would disappear soon

36 Experienced process that languages die out personally

37 Raised language fund in England

38 Not enough effort on saving until recent work

Questions 39-40

Choose the correct letter, A, B, C or D.

Write your answers in boxes 39-40 on your answer sheet.
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39 What  is  real  result  of  master-apprentice  program  sponsored  by  The  Ford

Foundation?

A Teach children how to speak

B Revive some endangered languages in California

C postpone the dying date for some endangered languages

D Increase communication between students

40 What should majority language speakers do according to the last paragraph?

A They should teach their children endangered language in free lessons

B They should learn at least four languages

C They should show their loyalty to a dying language

D They should be more tolerant to minority language speaker
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Answer keys:

27 v

28 x

29 iii

30 i

31 vii

32 viii

33 ii

34 C

35 B

36 E

37 A

38 D

39 C

40 D
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